Figure 24-1: Negative Production Externality
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Figure 5.2 Market Failure due to Negative Production Externalities in the Steel Market.



Figure 24-2: Negative Consumption Externality
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Figure 5.3 Market Failure due to Negative Consumption Externalities in the Cigarette Market.
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Figure 24-3: Positive Production Externality
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Figure 24-4: Corrective Taxation
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Figure 5.6 Taxation as a Solution to Negative Production Externalities in the Steel Market.



MIT OpenCourseWare
https://ocw.mit.edu/

14.01 Principles of Microeconomics
Fall 2023

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms.


https://ocw.mit.edu/
https://ocw.mit.edu/terms



